4 2 =
My = Sx 2y = Zx Abolol A% A 1
AERO P oA k%, y &) 242 B

3t MBS 0] 9lo] = M7} this 4L
7Y% 2ol A2 A,B.C.D 2 ol

.
o ;
2
G P o 9x]of utal oA s}7] okt

yl

Ry



Al A2 1), B(-k+1,3), C(L, k+2)7F 22 A4 A==
St A k9 gEY T2

@D -2 @2 -1 3 3 @ 4 3B 5



A& A(1, 2), B2, -3), C(4, 5) 5 BA4
o] 4 AE AU, aAABCY] Yol

1 ) 1
®)’—I2X+32 @y—%x—i—55
@y—§x+§ @y:§x+§



R

—2x+y+5=0¢]

24

(3, 2) & Ay

2]
=1

4.

@ 2x-y-3=0

®x-y-1=0

@ 2x-5y+4=0

® 2x-y-4=0

® 2x+y-4=0



A8 ax—2y+2=0,2x+by+c=0°] A (2, 4) oA AT uj,

=

@D a=-3,b=3, c=-11 @ a=-3,b=3, c=-12
® a=3,b=-3, c=-13 @ a=3,b=3, c=-15

® a=3,b=3, c=-16



6.

MAd2x—y-4=0,x-2y-2=0, y=ax+2 7} 22
g o, A a of #2?

@D 2 ® 1

ot

jub)

A



Ael

14

L Z
i 1

Ay=x+1y=-2x+49 2874 4 (-1,3)& A4

2]
2]

=
m

7.

Yol RNl
|
=
— |
Il
-
0|
+ ™
= +
— e =
| — e
I Il
ENEEN
0|
| Yol
= +
— =
| — N
Il Il
-~ -~



o2 A 1 7 FPotAaA A (-2, 2) & A=
21 0] ALy = ax + b |t} o], a+ b
o] ke ?

® -4 ® -3 ® -2

@ -1 ® 0

[\




9. FEHO FES A(3,17), B(48,281) 21 AH AB 919 A Fol|A x
zhmety a7t BT A4 o e

@ 274 @ 4 7§ ® 157 @ 16 7 ® 46 7



10. o= Z™HoNAM a st bl o] BAA S e

HY?
©) a_

a+2 1 @*le:l
@ L2 g b
5L 1 _ )

2a B_l




l.l

X
a

x]ﬁ

Ll

11.

o F2? (Ha>0,b>0)

ab

’

® 4 3 6 @ 12 B 24

@D 3



12. A4 a, b, c7V 2 ab > 0, be < 0-2 TWHEAZD o 42 ax+by—c =
ool et et Auh= AME WS B 1297

© A1, 2, 3 A2H @ A2, 3, 4 AEH
@ A1, 3, 4 AHEH @ A1, 2 A

® A2, 3AHEH



13. %4 A(a, 3), B(4, 5) & 3= 4AE AB
y=-x+bd ™, a+b 2 3H2?

@D 7 ® 9 3 11



14. A mx-y+2m—-1=0°]FH A(1, 2)
QUM L 2 AF ke AT o, m 9]

GEENSRIEES SRR
® Hugt: S AxL:: @ 4
©® AW 1 HEG:



15, F A x+y-1=0Tmx—y+m-2=00°] ALALH| A gh
o], m 9] gl Hel=?

1 1
®§<m<2 @§<m<3 @ 1<m<2

@ 1<m<3 ® 2<m<4



